ECERELEE LI

&5 89/HMF ololx|

© HEINRICH KIPP WERK GmbH & Co. KG

THE

ot20|E FHAEL A% F|=E A3 F DIN 7984
Eél

EM OpR2]:

TS dnt

2 GE A7 A SH HE, ofd &3
Al

I1HE8 I fH 2 FE.

AMIME:

8 U A 5 H K0493

Kinn

3 27} L{E DIN 985, &

www.kipp.com - info@kipp.com 1/3



K

ECERELEE LI

=5 4Y/HIE o[0ix|

=m
A
Q| = |—\-— -—t- - Q. sa] -t - Q
| ' ! ' -
1 i > —
==} C f=-
st M o
=7} K {E==-
| - f—
S
== Qo

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
sl EHd LAl ==

Tg T — 7" —|E'| ETDIE

z= 2%

FEHS A B C D E F G K L M P R S
K0475.51212 12,1 12,1 28 25 32 355 25 56 66 43 23 49 M6x20
K0475.51414 14,1 14,1 28 25 32 355 25 56 66 43 23 49 M6x20
K0475.51515 15,1 15,1 28 25 32 355 25 56 66 43 23 49 M6x20
K0475.51616 16,1 16,1 28 25 32 355 25 56 66 43 23 49 M6x20
K0475.51818 18,1 18,1 28 25 32 355 25 56 66 43 23 49 M6x20
K0475.52020 20,1 20,1 38 40 45 53 40 80 93 60 33 725 M8x25
K0475.52525 25,1 25,1 38 40 45 53 40 80 93 60 33 725 M8x25
K0475.53030 30,1 30,1 38 40 45 53 40 80 93 60 33 725 M8x25
K0475.54040 40,15 4015 55 56 60 74 56 116 134 88 40 108 M10x30
K0475.55050 50,22 50,22 63 66 66 84 66 131 149 98 45 123 M10x35

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 3/3



